oS 1o A ABLCH o]t
AH = 2cm, CH = 4cm ¥ o, vt
Yol gol=?

@ 977TC1’I12 @ TCIM @ ?ﬂcm
@ 9mem? ® %ﬂcrﬁ

B

CH 9] @443} 9 0 7t vt 24 D 2 813
AH-BH=CH-DH o2&

2 x BH = 4 x 4(- CH = DH)

-~ BH=8

tqﬂ]'/\'] 12|12 BO 2] Zo]& 5em ©]t,

1 2
]-OJ';| E_]}O]L HXH XX 5 = ;n(ch) O]]‘:I-.

—




2.

=

ohe TelA 90 o WMAE o]
Fstoler,

i

vV V
0%
M o
g
—

~&B

209 WAEE  ol2t o
PB=r-—4,PA =1+40]822
3x5=(r—4)(r+4)

2 —16 = 15,72 = 31
r=V31(r>0)




o3 oA ¥Hz] 59 dojzt Z+
ZF 443, 23 ¢ T A0 HA
PT, PR & & HH T, R 7} Ut
PA =42t & o, PT 9] dol&
SHHA?

® 7 @8 ®9

@ 10 ® 11

B

BR = \/(4V3)2— (2V3)2 = VI§— 12
36 = 6

BR=AR=6°|B&

PT° =PAxPB oA PTZ = 4x (4 +12)

PT =64
. PT=8(PT > 0)




4. g I PT =90 o H4ol,
T Aol x o ghe T

@6.4 @ 6.5 ® 6.6
@ 7 ® 75

B ~

AT =6,AP =10 0|2 &
PT = V102 - 62 = V100 - 36 = 8
82 = xx10, 64 = 10x
64 32
*T10T 5 T

6.4




& 184 PT = AB £ A&
o2 5= 90 9 HHo]1L AB =
20cm , /PTA =30° 4 o, PT ©
Zdol=?

@ 10cm @ 12cm
® 15cm @10\/5cm T 30°
® 12\/§cm

~&B

A
A
T 30° £
(ATP = /ABT = 30° o|E2 /BAT = 60°
1:2=AT:20
o AT =10(cm)

(ATP = 30° , /BAT = 60° ©|B& /APT = 30°,
AATP 7} o] 547 g o] 22 AP=AT = 10( cm)
PT” = 10 x (10 + 20) = 300

o PT =10V3(cm)




